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KANAGAWA

String test="KANAGAWA?;
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KANAGAWA

String test="KANAGAWA?;
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KANAGAWA

String test="KANAGAWA"; test.indexOf(*A")->
test.indexOf("N”)->
: SIETIETE UIXFFH test.indexOf (“NA’ )
LSS0l SUICENSME  testindexOf(IT")->- 3
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testindexOf(*A”,2) ->3
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String alphabet = "abcdefghijklmnopgrstuvwxyz”,
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KANAGAWA

String test="KANAGAWA?;
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test.substring(4)->"GAWA” test.substring(4,6)->"GA”
test.substring(6)->"WA” test.substring(1,6)->"ANAGA”
test.substring(0)->"KANAGAWA™ test.substring(2,5)->"NAG”
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KANAGAWA

String test="KANAGAWA?;

test + 7 Institute” -> “KANAGAWA Institute ”

test + “2016" -> "KANAGAWA20106”

test + test -> “KANAGAWAKANAGAWA”

test + test+ 7 Institute” -> "KANAGAWA KANAGAWA Institute ”
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String[] moji = “Akagi, aircraft carrier,1925”.split(“,”)
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moji[0] = "Akagi”’,moji[1]="aircraft carrier’,moji[2]="1925"
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"KATIrim() > KA’

test.isEmpty() -> false
“Kanagawa”.isEmpty() -> false
“isEmpty() -> true
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5I1EHER U TWBEEZfloatE! float(“3.14”)
float(String s D |- T4

iNtBY 3| #ix & SXFF (C 25 iR str(123)
floatfls | ¥ix % X7 (C T ifa str(3.14)
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String[] loadStrings (7 7 1 L&)

String[] lines = loadString(“fuel.txt”);
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saveStringsfE#t
saveStrings(7 7 1 /L4, X F5Hc5)
saveStrings(“test.txt”,lines)
String[] lines& 9 %
linesZTHHICA > TWBXFI %=
"testixt’ICEEHT
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